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Instructions to the Candidates

wNenffal & fog A

Read the following instruction carefully
before you answer the questions. Answers

are to be marked on a SEPARATE O.M.R.
SHEET

1. Please write your Centre Code No.
and Roll No. very clearly (only one
digit in one block) as given on your
admission card and even zeros
appearing in the Centre Code No.
and Roll No. should be correctly
written in the appropriate blocks on
O.M.R. Sheet.

Example:

Scheme State Year Cenire Code Rall No.

Code Code

(3] [2]7] [1]3] [1T1]3[1] [1]2]4]

U @ IR 39 W Yga Pt e
I e A gy | IR T o7 ah.uH R,
Me wRafragam &

1. IO & P T q A TR
S o aMue wae-—us A Ry man
WA (U6 9rEe § $ad U 3i)
foRea | 781 a® & smue = @re
TR 1 Ve TR A I e I
P 3P f MR, e |® w8
Hrae # fore o |

ISR
WM e g P Be eI
BE EE
(3] [2]7] [1T3] (A I3]1] [A]2]4]
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This test has two parts. Part | as well

as part Il consist of 90 questions in
each.

Each question carries one mark.

Since the time allotted to the two parts
of this question-paper is very limited,
you should make the best use of it by
not spending too much time on any
question.

Extra page has been provided for
rough work at the end of question
paper.

Do not mark more than one answer of
any question on OMR sheet
otherwise answer will be cancelled.

Avoid cutting/over writing/use of fluid
etc. on OMR Sheet.

Attempt each question, there is no
negative marking in this test.

e ThE A A 2 ) e

90 YUY B | Rk

TS W B UD 3P B |

4% 39 YE-19 3 - qEi @

T¥ Y@l & 37 A (Rough) % 1
& forg arfafed g g man &

AN AR, Me R & A 91 3 15
¥ IfF IR AP T TN T IR
R & e |

3N THAR, e W) Bfen/aiar wefea
/ TS 3T &1 U 9 N |

TS U B P00, 39 g0 §
PIS THRHAD D T8l & |

Note:Do not write anything except the

Roll Number and rough work
anywhere in the booklet.

Are: 39 qRawt ¥ s sgwHe foram

AR 6 B TR B IR IR
3o T8 fofa ) -
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PART-

| (9T1-)

MENTAL ABILITY TEST

dfEs drga gdeo

Questions: 1 to 90

Directions : (Q.1t04)

The numbers have been arranged under
some rule. Based on that rule, which

number will come In place of the
question mark?

Q.1 196,169, 144,121,100, 7
(1) 64
(2) 81
(3) 91
(4) 36
Q.2 3,9,27, 4,186, 64, 5,25, 7
(1) 50
2) 75
(3) 100
(4) 125
Q.3 25,10, 17, 26, 37, 50, 7
(1) 65
(2) 60
(3) 55
4) 75
Q.4 91,76, 89, 78, 87, 80, 85, 82,7
(1) 83
(2) 84
(3) 85
(4) 86

fade (w19 4)

s fard frawm o s av foed o )
gt fygw @ amu 9v wveraras foe @
oI gy A Wl 3w Hrgm?

9.1 196,169,144,121,100,7
(1) 64
(2) 81
(3) 91
4) 38
u.2 3,9,27, 4,16, 64,5, 25 7
(1) 50
@) 75
(3) 100
(4) 125
w3 2, 5,10,17, 28, 37, 50, 7
(1) 85
(2) 80
3) 55
4) 75
w.4 91,76, 89,78, 87, 80, 85, 82,7
(1) 83
(2) 84
(3) 85
(4) 86

m
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pirections : (Q: 5to7)
How many triangles are there
figure?

Q.5

(1) 16
(2) 13
3) 9
4 7

(1) 1
(2) 13
(3) 15
(4) 17

in each

A (n.597)

frerit 87

u.5

u.6

(1)
(2)
3)
(4)

16
13

(1)
(2)
(3)
(4)

1"
13
15
17
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Directions: (Q.8to 11)

A series of small letters are given which
follow a certain pattern. However some
letters are missing from the serles. You
have to find out the right set of letters
from alternatives that can be inserted
into the blanks of the series.

Q8 a_ba_b_b_a b
(1) abaab
(2) abbab
(3) aabba
(4) bbabb

Q9 ba_cb_b bab__
(1) achb
(2) bacc
(3) bcaa
(4) cabb

Q10 aa__ba_bb_ab_aab
(1) aaabb
(2) babab
(3) bbaab
(4) bbbaa

Q11 cccbb_aa_cc_bbbaa_c¢
(1) acbhc
(2) baca
(3) baba
(4) acba

ﬁiﬁ(n.sﬂn)

iR aofaren @ B FEl A T HE
& ¥ 2, A o Afted 7w W ¥ | GO AR
s@en A Mad ¥ | R P 0P Wl e
¥ R e Rl # @ vity, fors R
i # o A o W |

W8 a_ba b b_a b

(1) abaab
(2) abbab

(3)

aabba
(4) bbabb

W9 ba_cb_b_bab__

(1)
(2)
3)
(4)

acbb
bacc
bcaa
cabb

W10 _aa__ba_bb_ab_aab

aaabb
babab
bbaab
bbbaa

U111 cccbb_aa_cc_bbbaa_c

(1)
(2)
(3)
(4)

acbec
baca

baba

acba

===============-==-==-==-=========-====---=F
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Darections Q. 12018

m each of the following figures,
DI AT WOTTRN AC0NNdINg O sone
AMINNE A QI MDY 8 miasing,
Sown by question mark. Fid the

T

fdw (0. 129 16)

‘Nilftnﬁ ﬂﬁﬁﬂliﬂqﬂh‘ﬁ‘q‘gﬁﬂi‘“
WWMMHQMW‘H::
m“‘!'mmhﬁmm
¥l gQ W W W W vw R
WM IR IIYE ||

w2

(1
2)
S)
(4)

125
215
251
512

QA3 4

E? 1" 9
J"F' /
/ /
‘et a0t

15 8
Y’

)
)
(3
(4)

1216
2250
8100
11036
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Q.14 1 4 2 H.14 1 4 P
4 2 5 4 2 5
2123 223
49 | 64 | 169 49 | 64 | 169
(1) 3 (1) 3
(2) 4 (2) 4
@) 5 3) 5
(4) 6 4) 6
Q.15 u.15
? 14a ? 14H _
719 T19
(1) 2 (1 2
@ 3 @
(3) 12 (3) 12
4) 18 (4) 18
Q.16 ; 9.16 ; 4
6 4 1 6 4 1
(1 5 1) 5
(2) 6 2 6
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Directions : (Q. 17 to 20) fadw (9. 17 9 20)

In each of the following questions, | 19 RRT 7T TS wvq & oy e :
1),

among all the alternatives marked (1), | (2), (3)d (4) ¥ ¥ @\
(2), (3) and (4), select the one which agfa (X) § Tafy o kg ﬁw%ﬁl

satisfies the same condition of Wy
placement of the dot(s) as in Fig. (X) R 1 et it 7 #

Q.17 - A
ON P I @ U B 3
X 0@ @ @ M@ @
Q.18 H.18
: % NSl A . @@ N A
KM@ @ e XM @ @ (4)
Q.19 9.19

TR IO dIoy

XM (2 (3)

(4) X)) ™ 2 @3 @
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Directions : (Q.21to 23)

In each of these questions, choose the
correct mirror image of the figure (X)
from four alternatives given alongwith it.

Q.21

6] [91[31[C6

X) M @ @3 @

Q.22

CARISIS|S

xX) M @ @ @

Q.23

—

B0 (e B
X M @ @ @

AN*

‘N

Directions : (Q. 24 to 26)

In each of these questions, choose the
correct water image of the figure (X)
from the four alternatives given
alongwithit.

Q.24

FAMILY
X)

1) dVWNIJA 2 EVINITA
3) EVMITA 4 EVINITA

e (m. 219 23)
feg 7wl A} amgfy (x) B o A

| <@ w34 Rarg 0, wiu fRe v ar

farredi 3 A wé I vifey)

u.21
6] 19][8][C]6
) (4)

xy 1 @ @

9.22

CREISISS

Xy M @ @ @

9.23

—
-
J|

]
1
L.

/i

-

x M @ @ @

e (. 24 9 26)

f T weEl A sl (X) P o F A
w 3 Rarg 2, Wy Ry T ar
el 4 ¥ v o eifev|

¥.24

FAMILY
(X)

1) dAVWNIJA 2 EVRHNIIA
3) EVMITA @) EVINITA

w————‘—iﬁﬁ
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2 @) @
Q.26

> S 5 [ 2>

(X) 1 @ 6 @

Directions : (Q. 27 to 30)

In these questions, different positions of
a dice are given. Answer the question
followed by figures?

Q.27

1

3| 8s | 56| (5] 1

Which number is opposite to 4?
(1) 2
(2) 1
@) 3
(4) 6

Q.28

3 6 3

25312451

Which number is opposite to 3?7
(1) 6
(2) 2

(X) M @

fAdw (. 27 9 30)

O A T TN A R Rufg
ferars ¢ €1 REil @ wrr g8 1y g 4
IR ARG

0.27

7 7
5 5

4 6

3 6 5 1

DI A1 3B, 3B 4 P AT &
(1) 2

2 1
@) 3
4) 6

3 8 LR
2] 137, ] 2] 4

U.28

B I 3, 3P 3 B A9 87
(1) 6
(2) 2
(3) 5
(4) 4
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Q.29

u.29
3 i 3 2

Sla|l Ba] BT2] 2], 3sla ] B[a] 13]2] 124

Which number is opposite to 2?7 dF Gl 3P, 3P 2 B faqdg 27

(1) 4 (1) 4

2) 3 2 3

(3) 5 (3) 5

4) 1 (4) 1
Q.30 5.30

i i N

al, 5], 3, 6] 4 al, 5[, 3, 6],

Which number is opposite to 6? B 1 AP, D 6 B g 2?

(1) 1 (1) 1

(2) 2 (2) 2

3 3 3) 3

(4) 4 (4) 4
Directions : (Q. 31 to 35) fde (w. 31 9 35)
in each of the following question a | fr=ifafera weis v ¥ §HEa el @
related pair of words is followed by four | 3 3 TvER
pairs of alternatives. Select the pair that m F 9 Wm ?ﬂgﬁﬁzﬁﬁw
has a relationship similar to that in the o ' kS
original pair. ' 3 2l
Q.31 Editor: Magazine::? W.31 9Es : ufde :: ?

(1) Lesson : Writer (1) 9o : oEd

(2) Chair: Carpenter (2) FE : PRI

(3) Director : Film {3) ﬁm . m

(4) Gardener : Field 4) Wl : wg afees

*ﬁ
11 :

T s e R RO ot A R S —
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Q.32 Drama: Character::?
(1) Farming : Loan
(2) Game : Players
(3) North : Direction

(4) Classroom : Blackboard

Q.33 Reading : Knowledge : : ?
(1)  Climb : Mountain
(2) Play : Football
(3) Worship : God
(4) Effort : Success

Q.34 Sun:Mars:: ?
(1) School : Classroom
(2) Field : Well
(3) Earth : Moon
(4) Ship: Boat

Q.35 Storm : Wind : : ?
(1) Happiness : Deeds
(2) Tide : Moon
(3) Waves: Sea
(4) Anger: Weep

12

§.32 g AP
(1) &
(2) ud : Raere
(3) W :faam
(4) TE-DE : WA g

¥33 U §WH 1 ?
(1) e : Tdd
(2) ol : Bl

(3) T : T
(4) WA : el

934 A T c 7
(1) faemery : wem e
(2) & : T (o)
(3) gl : T
(4) WS B : AP
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Q.36 Pointing to a boy, Meena says, "He

is the son of my grandfather's only

child." How is the boy related to
Meena?

(1) Cousin
(2) Brother
(3) Uncle
(4) Nephew

Q.37 Pointing to a lady in the
photograph, Vandana told her
friend, "She is the daughter of my
mother." How is the Vandana
related to the lady in the
photograph?

(1) Sister

(2) Son

(3) Nephew
(4) Daughter

Q.38 Pointing to a boy in a photograph
Raju says, "He is the son of my
mother's only son.” How is Raju
related to that boy?

(1)  Uncle
(2) Brother
(3) Cousin
(4) Father

Q.39 A man said, "This girl is the wife of
the grand son of my mother.”" Who
is the man of the girl?

(1) Grand Father
(2) Father

(3) Father-in-Law
(4) Husband

.36 1 3 @ wed A AR TN IR

.37

¥.38

0.39

gQ eI, "9E N @ P U A I
o ASH 81" I ASD B 91 A
T Rem 2

(1) =R TS
2) e

(3) T T TS
(4)  wferoT,/wren

7591 3 BIRWT ¥ UF Aften A
AR TR T §U 30 A | 7,
" A A B AL ¥ | wenns §
Afgen | a==-n &1 71 R 87

(1) &4

(2) eI

(3) W

(4) <

1) # 1w e A S g B
gqvﬁl#w, "J8 WY AT P UD
AR 42 1 AT B |* 9 B W ASD
| T A= 87

(1) =ren

(2) 3

(3) T @B ASH

(4) faen

T aed A FE, "UE dSH AW
qra @ 9 9 g 211 99 FeEt
(1)
(2)
(3)
(4)

>4 & 3

w

13
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Q.40 Q the Son of M was married to N, | ¥.40 M %1 TSH1 Q# 3 I

whose sister O was married to P, ‘§'§ o, forerad &1 0 :n‘? Ne
the brother of Q. How is O related §§ A, s Qa g R O M-\v}m
toM? = B? w
(1) Sister (1) &1
(2) Daughter-in-Law (2) T
(3) Sister-in-Law (3) MR
(4) Daughter 4) A

Q.41 A man starts from a point and | W.41 T ameh ve fag (vrre) & e
moves 3 km North, then turns to IR P ® IR S & gy 3
West and goes 2 km. He turns faft. e @ 2 7 uftew o At
North and walks 1 km and then qSHN 2 &R, s HE IR 7

moves 5 km towards East. How far
is he from the starting point?

SR 1 . Toreh ® i b g oy
mqqaﬂsﬁm.ﬂam%lﬂ?mﬁ

(1) 11 km AR W R e gx #2
(2) 5km (1) 11 fH.
(3) 10 km (2) 5 fo.
(4) 8km (3) 10 fah.
(4) 8 fa
Directions : (Q. 42 to 43) e (9. 42 9 43)

A vehicle starts from pointBand runs 10 | & arz B o @ AT I HIal &

km towards north, turns to its right and 3R 10 59, IR 9 3k A= ? 3w fiw
runs 15 km. It then turns to its right again '

and runs another 10 km to reach point C. I;Tﬁmaﬂ-" 5—‘?’3:};5 ﬁ“h 2:;'!%]_‘:

Q.42. After reaching point C, how far is | 10, wm ¢ ox ugerd & forg Srear 1
the vehicle from the starting point :

B? 42 ™M C W ggem @ dqg AT

(1) 25km IRFRE T B Y fba g» &7
(2) 15km (1) 25 fored),
(3) 10km (2) 15 fpe,
(4) 35km (3) 10 o,
(4) 35 fH. .
14 AT it

_ P |
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Q.43.After taking the second turn, in

which direction will the vehicle be
moving?

(1) North
(2) East

(3) South
(4) West

Directions : (Q. 44 to 45)

Shaloo ran 20 m to the east from his
starting point A, then he turns left and
ran for 15 m, then turned right and went

25 m and then turned right again and
went15m on pointB.

Q.44 How far was Shaloo at last from the
starting pointA?

(1) 45m
(2) 35m
(3) 25m
(4) 15m

Q.45 In which direction he may be at last
from his starting pointA?

(1) East

(2) West
(3) North
(4) South

.43 T AR g1 B 18 are 5w R
# o %@ 8y

(1) 9

(2) TE
(3) cfem
(4) uf¥gH

e (. 44 | 45)

VT AT AR T AW 20, qra
s e, R 9 T 3R gea@ @ @R
15 9. drsa 2 R A siv g 25 A
wen 3R fR 3 A I SR geav 154,
TP I B W 1|

W.44 ¥Te] 3T RS I A S I o
fareit g a?

(1) 454
(2) 354
(3) 254
(4) 154

W.45 31 IRMA™F W= AW 3 ¥ b9
fen ¥ 7z 8 W &7
(1) @
(2) ufR=m
(3) I
(4) <feror

15
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S T e ———
WhF P ,..r,j:_?rﬁ.:m;m_kwu.,_
X i = =

- (Q. 46 to 50)
Directions (Q gonts -

re
The Diagram shown belt:: icrf AOWS

four types of literates h s anskiit 2 T

English, Hindi, Punjabi an the
Baged on above information solve gg fau Mg g

questions given below.

Punjabi
English

.46 <rT o R, Hvapd AR durdt o

.46 People wh n read and write : _
a4 H?:cil;;.a S\:n:k;: and Punjabi are fora wadl § 3= ume fdu wm
represented by (1) E AN B
(1) EandB 2) KaRF
(2) KandF ) £ SR K
(3) EandK
@) JandK (4) JIRK
Q.47 People who can read and write all 9.47 @ o T wmEd form @ 98 W
languages are represented by ¥ 9= yse b o &
M J 1) J
(2) K 2) K
@) E @) E
@ F @) F
Q.48 raople who can read and write all | ¥.48 M1 W qordl ‘dﬁﬁ’l@’-ﬁf e
anguages e tP \ .
rep?nsegntadlg:; i Fuigeciae ?’G‘ﬁ Had § 9% 9P faran ol
(1 J )
(2) K (1 J
(3) G (2) K
4) F 3) G
==E-=======a==={:—__i=—_—_—.—ﬁﬁﬁﬁ
16

|
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Q.49 People who cannot read and write u.49 @ ol ol " j;g%alﬁ hid
“ English, Punjabi and Sanskrit aé ol fora 7l
represented by, ST &
m A (1) A
(2 B 2) B
@ C 3 C
(4) D 4) D |
Q.50 People who do not know English | .50 @1 <0 aireft SR g et W,
and Punjabi but are familiar with g 3 wepa 2l 9
Hindi and Sanskrit both are ( ara) & 3= wae fban Sl
represented by N
(1 A
2) B (1) A
3 C 2) B
4) E 3 C
4) E
Directions : (Q. 51 to 52) N
A person has his wife, two married sons fadw (9. 51 52)
each having 5 children including two | T® af @ uRar § W@ TR, @
girls. m.ﬂgmaeqa'masaea‘,sﬁﬁ,
R Q-2 wrsfdal f it €1
Q.51 How many female members are in | 9.51 qﬁaﬁﬁaam ﬁﬁ#’lqﬁmﬂmﬁ?
the family?
(1 3 (1) 5
(2) 6 (2) 6
@ 7 (3) 7
4 & (4) 8

Q.52 How many members are in the | %.52 aRar § get fhem v 87

family?

(1) 15 (1) 15
(2) 16 (2) 16
3) 17 (3) 17
(4) 18 4) 18

—
T e e

17
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Directions : (Q. 53 to 56)

Complete the series of Problem Figures

among the Answer Figures.

Q.53 Problem Figures

TN

Answer Figures

—

7

(1) (2)
Q.54 Problem Figures

©)

(4)

Answer Figures
(1) (2) (3) (4)
Q.55 Problem Figures
— I =1 =

Answer Figures

]

(1) (2)

9.54

9.55

STV AT fof

(1) (2) (3) (4)
TR o

SR il

i

I
i
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Q.56 Problem Figures

2|

Answer Figures

ISR

(1) (2) 3) (4)
Directions : (Q. 57 to 61)

In these problems, there is a group of
four figures marked serially 1 to 4. Out of
these four figures three are similar in

some way and one is different. Find the
one which is different.

X | 2

Q.57

A |3O|0

(1) (2) (3) (4)
Q.58

-+ X

Mm@ (3) (4)
Q.59

X | ?

Wid )4

M @ (3) (4)

Adw (. 57 9 61)

¥ W A aR gl w1 s we
2 Al ) 19 499 BHe R
T 1 AR H ¥ §F ampfodi R weR
A ¥9A @ 3R @ agpfa A=) 3 @
=1 & 39 s -

.57
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Q.61

K | € BRI A

(1) (2) (3) (4)

Q.62.1f you are 24th in a row from either
side, how many persons are there

inthe row?
(1) 45
(2) 46
(3) 47
(4) 48
Q.63.Dark is related to.........7
(1) Day
(2) Stars
(3) Moon
(4)  Night
Q.64. Mobile phoneisrelatedto........ ?

(1) Temperature

(2) Pressure

(3) Communication

(4) Reflection
Q.65.Television is related to?

(1)  Audio-visual aids

(2) Audio aids

(3) Visual aids

(4) Echo sound process
Q.66.Bulb is related to?

(1) Heat
(2) Sound
(3) Magnetic Media

(4)  Electricity

Q.61

B AR

M @
5.62. U T G § Ry o 0y

(3)

TR 3BT Ry 3
AL L
(1) 45
(2) 46
(3) 47
(4) 48
¥.63. 3N BT Wy R
(1) &=
(2) RT o7
(3) wT=H
(4) md
.64, AIATSA BIF B wE -
(1) o™
(2) ==
(3) WER
(4) RTEEH
1.65. oiifdo= &1 g 2
(1) srea—gea |

(2)
(3)
(4)

s [T
¥y |l
ufy w@fy ufsar

Y.66. 9c9 &1 TEH &

(1
(2)
(3)
(4)

Shull

g
gEGI AedHq
farega
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Q.67. Highway is related to ?

(1)  Transportation
(2) Communication
(3) Civilization

(4) Mobilization
Directions : ( Q 68 to 71)

The following questions are based on
the given letter series. Answer the

questions keeping in view the given
letter series.

EYCIFOHQATJDLNRPMGVSZK

Q.68. If FG is related to IV and TZ is

related to AK then QV is related
to:-

(1)
(2)

0z
HS
3) HZ
4) OS

If DELHI is written as. TZJFY and
MOST is written as RIGQ. Then in
the same way PRANK will be

Q.69.

written as-

(1)  LNHDS
(2) NLDHS
(3) NLSDH
(4) NLHDS

Q.70. If FT is coded as RS and MZ is
coded as FA then which will be
codedas ML?

(1) IQ
(2) HC
(3) OC
(4) HO

W.67. o/9Y & ER R
(1) wRaed
(2) §uR
(3) wwel
(4) wferefreran
Aden (n. 689 71)

ﬁﬁﬁf@ammmaﬂam
gae R ARG §1 F@N B == §
@ §Q eI 1 IR g

EYCIFOHQATJDLNRPMGVSZK

9.68. afe FG &1 W= IV & 9 TZ
&1 Y AK ¥ & @ QV &1 T

o
(1) 0z
(2) HS
(3) HZ
(4) 0OS
9.69. afe DELHI @& TZJFY @1 MOST
P! RIGQ forar wirem & &t PRANK
! feran smom-
(1) LNHDS
(2) NLDHS
(3) NLSDH
(4) NLHDS

gfe FT®I RS 9 @1 MZ &1 FAQ
wef¥fa frar wiran & o fas ML
| wef¥fa fm smem?

(1) 1Q

(2) HC

(3) OC

(4) HO

9.70.

————— ——  ———————————————

21
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Q.71. Which group of letters will come

in place of question mark?

EC,YF, 1Q,?, JM
M aL
2) oJ
(3) HD
4) TP

Directions : (Q 72 to 74)

The numbers/letters have been
arranged under some rule. Based on
that rule which number/letter will come

in place of question mark?

Q.72.
Y| T|o|lJy |E
600 | 380 | 210 | 90 | 7
(1) 60
@ 75
3) 70
(4) 20

Q.73.
B |l c|bpol|EelcEF
4 | 18| 48 | 2 | 180
(1) 100
2) 120
@3) 9
4) 90

===——-‘-‘=—;2———______.___________________$§

w71, 9¥aEsd fae @ W gy

&N HHE 3o i W

EC,YF, 1Q,?, UM

1) QL

2) oJ

(3) HD

4) TP
fAde (m. 729 74)
3% /3R el e & sy oy ford
&1 99 A B AR W e Rz g
WM W B A1 3 /&R Arem?
Q.72

Y|T|0o]|J
600|380|210/ 90

(1) 60

2 75

(3) 70

4) 20
Q.73.

B[ C | DJ|E/|F

4 [ 18 | 48 | 2 | 180

(1) 100

(2) 120

(3) 96

4) 90

e
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Q.74.

Q.75.

L K|l c| 2 | H
145 | 122 | 10 | 17 | 65
(1) 1
(2) D
@) J
(4) ™

How many cubes are there in the

given figure?

(1)
(2)
3)
(4)

48
47
46
45

Directions : (Q 76 to 77)

Figure 'x' is embedded in one of the
given four figures. Trace out the correct

alternative.

Q.76

0

(0)

M
>

v

NE

(x)

(1)

(2)

()

(4)

feeq wifey |

Q.74.
L K | c | ? H
145 | 122 | 10 | 17 | 65
(1) |
2) D
3) J
4) M
Q75 @ ¥ gl § wE @B wem
fararit 7
L
(1) 48
(2) 47
(3) 46
(4) 45
e (0. 769 77 )

R 'x' & Ry v 31 IR sl § o =it
e ¥ I wenfid fha &) SRE

u.76

[@

+ ||

(x)

23
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e = A

Q.77

X |

(x) (1) @ @ @

Directions : (Q 78 to 81)

In the questions below, are given two
statement followed by the conclusions
numbered | and Il. Decide which of the
given conclusions logically follows from
the two given statements disregarding
commonly known facts. Give answer(1)
if only conclusion | follows, (2) if only
conclusion Il follows, (3) if either | or II
follows and (4) if neither I nor Il follows.

Q.78

Statements: Some chairs are
rabbits. Table is a
chair.

Conclusion: 1) Some rabbits are
chairs.

Il) Table is not a
rabbit.

Statements: All questions are
answers. Some
answers are
problems.

Q.79

Conclusion: 1) Some problems
are questions.

Il) Some answers
are questions.

Statements: Some shoes are

shirts. All shirts
are caps,

Q.80

Conclusion: 1) Some shoes are
caps.

Il) Some shoes are
not shirts.

n.77

Dl

(x) (1)
fyde (w. 78 81)

weare & P 1311 R § ) g g
el B A T XTI R 17 2 gy
R IR Wb el B Ruffy o,
afe e 1713 Fit & (1), 113 gy

@ (2), 1301 1A 91 B O R (3
179 @ 15 9 S (4) S

NA | K2
(2) (3)

(4)

W78 T : TV FRIAT @iy §) 4y

Ud B B |
Frepd : 1) o @ BT |
1) 351 e g )
W79 aawa : Wl wed I ¥ | g T
AT & |
fFrepd ;1) o wrE T
) BB IR, I E |
N80 T : FY S FHe &1 W
Sl S § )
Fepd - 1) §B o AT
Il) B S HHT T € |

_—\M_d_—_‘————-—________—__f

AT P e o e g o
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Q.81 Statements: All plants are

flowers. Some
flowers are pens.

Conclusion: 1) All plants are
pens.

Il) Some plants are
pens.
Directions : (Q82to 85)

In each of following questions three of
four words/numbers in alternative
series are same in any way and form a
group which one of this group does not
belong to it?
Q82 (1) 2332

(2) 3443

(3) 4554

(4) 64-46
Q83 (1) 5

2 7

@) 9

4 1
Q84 (1) BCEH

(2) ABCE

(3) PQSV

(4) EFHK
Q85 (1) GEDC

(2) AZYX

(3) ONML

(4) TSRQ

98l aaaa - wh 9 g & ¥ B
=&

frepd - ) FROETFE

Iy ZBIETFE]

fdn (1.82 985)
Prefafaa vae v 4 9r el 4 4
5 5 o | ' 99 € o U 9E
#A @ @ & I 9 @ Az 99
e @ F-aia & A ¥l

Q82 (1) 2332
(2) 3443

(3) 4554

(4) 6446
Q83 (1)

(2)

(3)

@) 1
Qss (1)

(2) ABCE

(3) PQSV

(4) EFHK
Q85 (1) GEDC

2) AZYX

(3) ONML

(4) TSRQ

Scanned by CamScanner



Directions : ( Q 86 to 87)

In each of the following questions
arrange the given words in ameaning ful
sequence and then chose the
appropriate sequence amongst the
alternatives given below In each

question.

Q86 (a)
(b)
(c)
(d)
(1)
(2)
(3)
(4)

Q.87 (a)
(b)
(©)
(d)
(1)
(2)
(3)
(4)

Service
Advertisement
Application from
Appointment
a,becd
b,adc
d,ab,c
b,cda
Dressing
Wound
Accident
Doctor
b,c,ad
c,bad
c,bda

a b, cd

Q.88 Which dlagram represents
India, Haryana and Rohtak?

00 QD
(1) (2) (3)

(4)

~—y/

e (w. 869 87 )

P T2 W § W
P9 agA A WOIEY AU ney
gy RT T REe A gy
Bife|

)

g7

u.86 (a) ArHd

(b) fasima=

(c) 3MmaE ux

(d) frar f

(1) a,b,c d

(2) b,a,d, c

(3) d,a,b,c

(4) b,c,d, a
u.87 (a) WREH UCE

(b) e

(c) gHe

(d) =STeRR

(1) b,c,a,d

(2) ¢, b,a,d

(3) ¢, b,d,a

(4) a,b,c,d

w.88 = A amgfa W, eRawn T s
eas B wafifa sy 87

co )@
Mm @ @ @

26

Scanned by CamScanner



Q89

In a certain language FOR
stands for ‘old is gold' ROT
stands for ‘Gold is Pure’' and
ROM stands for 'Gold is Costly’
How is Pure old gold is costly'

(1) TFROM
(2) FOTRM
(3) FTORM
(4) TOMRF

if (+*) means (x), (-) means (+), (x)
means (+) and (+) means (-) then
9x4+2-5x10+3 isequalto.

(1) 2
2 3
(3) 5%,
(4) 211,

u.89 ufe Rl widfs wm A old is

.90

gold' B FOR ¥ "Gold is Pure’ 1
ROT @ @1 gold is costly @
ROM ¥ wefifa far srn @ 4,
Pure old gold is costly @ ¥4
s wafita fan omem?
(1) TFROM

(2) FOTRM

{3) FTORM

(4) TOMRF

a2 (+) & ared (x)
afe (-) 9 aread (+)
af2 (x) & arTd ()
f (+) A I (A A
Ix4+2-5x10+3 TTA &

(1) 2
2 3
3 57
@4) 211,
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PART-lI (3TT-1)
SCHOLASTIC APTITUDE TEST
Jfere eren RIET

Questions: 91 to 180

Physics Physics

Q91 A bat can detect its obstacle in [ ¥.91 < I IR IN TR

his path by 3Rl 1 T I #

(1)  viewing E;; CICED

(2) listening 5_ S

(3) smelling (3) TP Hwﬁlﬁli‘l D

(4) detecting reflected sound (4) TGRS A BT T B
Q.92 Ice glacier always melts 7.92 ::; §|m & Ream ik

(1)  from upper layer (1) $U |aE 4

(2) from lower layer (2) froeh |8 |

(3) allaround (3) &l HE 9 T 9y

(4) from middle layer (4) 99 ® B A
Q.93 A point object is placed in the | ¥.93 3@@el WU B Y& I8 W

principle axis is a concave %] DI YU B T Bl AR 1ms'D
mirror quite far away from the [HE P | TATI AT £ v @
pole and mored at a constant wfafaea f =erar ¥ o8 g o @
speed of 1ms™ towards the pole. AR

Its image also moves. It is found f& T AR IHH 4d @
that the object and the image 60 ¥l ! T WX forer ¥ 1 TR A
cross each other at a distance 60 v =R TR =qu1 ) wed
cm from the pole. From the T4 2t

given detail in passage, the focal

length of the mirroris

(1) 30cm (1) 30%

(2) 40cm (2) 40¥

(3) 50cm (3) 50 I+

(4) 60cm (4) 60 ¥

e —— e
: 28
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Q.95

\l‘- |u.

If two media has equal refractive
index and light is incident
normally at one of the boundary,
which of the following options
shows correct form of

&"' / 1]
(1)

refraction.
'*_\,' H, W
" ¥
(2)

~\§""'I\*ll. N\ fw

E [TH g\{'- Hy
(3) (4)

In the following question, a
statement of assertion (A) is
given and followed by a
corresponding statement of
reason (R) just below it. Of the
following statements, choose
the correctanswer.

(A) An iron needle is attracted
to the ends of a bar magnet
but not to the middle region
ofthe magnet.

(R) Material making up the ends
of a bar magnet is different
from that of middle region.

(1) If both assertion and reason
are true, reason is the correct
explanation of assertion.

(2) If both assertion and reason
are true, reason is not the
correct explanation of
assertion.

(3) Assertion is true but reason is
false

(4) Both assertion and reason are
false.

7.94 TR T wngHl @ gD (@D

WA B @1 Wy &) fhwor
WHR A o & |
(1)

v W O waad arafad 8, 37
A B W AT quada 7 §iF
\E |l‘|I ||-|1
gaqu: am
(2)
N N e NG w fw
) (@)

.95 A= uvq d F U wH (A) B

Y I9F 9@ (R) 39 A fam
T &1 A R Awel 4 | 9d
I BifeT|

T (A) AR @ g, 5d v
gas 3 R w snefia ok 2,
IHD Wl W A 7|

7 (R) R & T amen
gerd, 7eg a3 @ el A = B

(1) afe S Few @ d@ S& B, T
TP HAF Pl TE! 2T FATE |

(2) afe S FUE T T@ Sb B 79
T FAF P S AT TE
B |

(3) U B & TR TP Telcl & |
(4) S YT T TD TACT & |
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Q.96

Q.97

Q.98

If we want to keep our electrical
appliances safe against over
loading/short circuit, the most

important method of protection
will be.

(1)  Earthing

(2) Use of fuse

(3) Use of stabliser
(4)  Use of electric meters

For a child sitting in a swing,
which of the following
represents variation of kinetic
energy with time.

"= KEIAV:t

(1) (2)
KE KE
t- -+t
(3) (4)

How will the reading in ammeter
of a figure given below be
affected if another identical bulb
B, is connected in parallel with
bulb B,. The voltage in the mains
is maintained at a constant

value.
Maing a% &}

(1) The reading will be reduced to
half

(2) The reading will be double of
previous one

(3) The reading will not be
affected

(4) The reading will be increased
4 times.

w96 uR =W g
iR AT/ g ™
@ A §, ) W ?mamm
wEeayUl SuTy §

(1) ¥ HID

(2) TS & WA

(3) AR BT Wiy
(4) faga Aex &

W.97 qﬂm@ﬁwﬁaﬁmw
ﬁsma%'ﬂmwﬁaﬂqaﬂﬁqﬁ
mwﬁaﬂﬁﬁﬁﬁamm
KE%DUT—I RE =t

(1) (2)
KE t KE
-+ -t

(3) (4)

w.98 i Ry o 3§ urr 7l o1 wreaie

fe=n wnfam &m o 7= B, @
Y R 9 4 9 & T B,
wire fdm W wie w1 R
T T @1 ST §

(1) UTSYTH ATEN T8 QM
(2) uredTs uge ¥ {1 8 S

(3) Uegie W e My TE
REL
(4) uTeyTS TR T[ON & WY |

30

Scanned by CamScanner



Q.99

Match the entries of column |

with that of column | B e et 1
columnll. e |
Columni  cColumn il ol | B
A White Ilg_ht P. dispersion by A o w P, graTaxvl § g
incident in water droplets i aren ® 431 gRI
prism in atmosphere wWayere  qui-fagor
B. Two pri ite li
Daced yn O Whits light B. AIff  Q wd e
refracting T
angle opposite g o
with respect to Tdh TR
another & e I
™ 8
C. Laserlight  R.Nodispersion c. i m R. ®Ig qui-fagmor
incident on . 5
prism EaEIRIGG]
PR W
D. Rainbow S. dispersion D. =4 S. W &l avk
of light fagrau
(1) A-P, B-Q, C-R, D-S (1) A-P, B-Q, C-R, D-S
(2) A-P, B-Q, C-R, D-P (2) A-P, B-Q, C-R, D-P
(3) A-P, B-Q C-S, D-P (3) A-P, B-Q, C-S, D-P
(4) A-S, B-Q, CR, D-P (4) A-S, B-Q, CR, D-P
Q.100 Two ebonite rods, one Arubbed | g 100 taFEE @ @ B2 TEdR A 3
with polythene and other B with treiefe ¥ won Tl B @ e
wool are brought near the 3 ETRE
positively charged electroscope T TIeeY T
one by one. The possible effect fgaeedi & Wi mae: amm )
on leaves of electroscope will be f&gaa'eﬂ d TE W YA g
wHifas g B |
With A With B A B T B & WY
(1) Increases Decreases (1) e e
(2) Increases Increases (2) aa:n gl
(3) Decreases Decreases 3) qg:" ua:ﬁ
(4) Zero Zero 4) = gl
3
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Q.101 You are given a closed metal
container with an unknown
substance. By supplying heat at
constant rate and plotting 3
graph between temperature and
time, if you get a graph as
- shown, then two horizontal lines
indicates

?

Temp

Time

(1) Solid substance
(2) liquid substance

(3) gas
(4) liquid and gas

Q.102 A body can be cooled by
(1) Conduction

(2) Convection

(3) Radiation

(4) All of the above

When 12 g of carbon is
completely burnt in sufficient

Q.103

(1) o %]
(2) TR oG
(3)
(4) T 9 9
W.102 a%] F ovel fban o W@ R
(1) 91 g/
(2) Haed gl
(3) fafdwor gw
(4) SWIad | g/

9. 103 12g e+ P, SAfafier @t vy
A1 A g8 B W) CO, Bl A

quantity of oxygen, the amount T h

of CO,formedis

(1) 329 (1) 329
(2) 44g (2) 449
(3) 88g (3) 88g
@) 22g (4) 22g

e ———————————————
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Q.104 ‘}Plltllc Which s bad conductor | w. 104 T& wRe® o = 7 RAgd 3

of heat and electricity Is used to T @
manufacture el WF. ﬁgﬂfﬁﬂﬂ
0 s o et | oo i @ o a4 7w
plastic may be e 8 wadl §
(1) PV.C (1) @4
g: l:alemine 2) e
olyethene
ofiq
(4) Bakelite @) g
(4) dEHTAZT
Q.105 :Lhitch of the following | w.105 = # A o1 W FAwD
Df:n::::lc configuration can be = U urg T8 ghal &
(1) 2,8,5 (1) 2,85
(2) 2,8,4 (2) 2,84
(3) 2,8,1 (3) 2,81
Q.106 Reaction 2H,0,— 2H,0 + O,is | ¥. 106 3fAf@ 2H,0,—» 2H,0 + O,
an example of = & A e 1 SeERu
(1) Combination reaction (1) A st
(2) Neutralization reaction (2) e AfAfha
(3) Decomposition reaction (3) 3raues A
(4) Displacementreaction (4) faremas afafrar
Q.107 Solution of calcium hydroxide | ¥.107 fewad TrEgiqurEs @ fera 4
on adding a drop of PHIART @ # TF 18
phenolphthalein indicator turns TR AT F A A &
(1) Pink (1) 7o
(2) Red (2) e
(3) Yellow (3) dren
(4) Blue (4) rem
33
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isused | W. 108 BT T By g

108 Which allotrop of carbon . Ry
@ as an adsorbent W A i Ry o) :mm
(1) Coal (1) P
(2) Diamond () ®
(3) Graphite (3) AwrEE
(4) Charcoal (4) RS
109 Which of the following metal | %.109 7% 3 3 B W urg 5 3
a dna: no?raac:atallwlthwater 0 arfafsan =8 aﬁ? i
(1) Ni (1) Ni
(2) Mg (2) Mg
(3) Zn (3) Zn
(4) Ca (4) Ca
Q.110 Oxidation process involves 9. 110 aitRfrewo v 4 g @
(1) gainofelectrons (1)  ForagI= W &Y
(2) Loss of electrons (2) Fegg™ @l
(3) Addition of hydrogen (3) EESIoA &l |4
(4) Removal of oxygen (4) 3T B &l
Q.111 Milk of magnesia is 9 111 few site SR &
(1) Colloid (1) ®IAEsS
(2) True solution ) faom=
(3) Homogenous mixture (3) |E s
(4) Suspension @) e
Q.112 Which out of following is notan | ¢ 112fy= § @ S W FERS 3
organic acid o
(1) Formic acid (1) RS o

(2) Citric acid

|
(3) Ethanoic acid (i} fafe® T
(4) Carbonic acid (3) TAHIEH
(4) PEiTD I

___—_—ﬁ == = —r——
34
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Q.113 Match the Column 5. 113 Ftew @ PAam =

Column-1 Column-2 Hfed - 1 PifcH - 2
A. Acidicsalt |, Nac A.3rfrg @@ | NaCl
B. Basicsalt Il. Na,CO,

B. &1y @@ur Il Na,CO,

C. Neutralsalt |II. NH,CI C. S&riA &9 lil. NH,C
(1) A, B, Al (1) A4, B-ll, C-li
(2) Al B-, cel (2) Adl,  B-ll, C-l
(3) A, Bl cl (3) Adll, B-Il C-l
(4) A-lll, B4, C-ll (4) AL, B, CAlI

Q114 Which of the following is a | w.114 f= 4 | @1 WBRaAR®

Prokaryotic cell? PR B?

(1) Spirogyra (1) TR

(2) Amoeba (2) 3

(3) Rhizopus (3) EwITE

(4) Escherichia Coli (4)  gEERRE Brel

Q.115 Which of the following is not a | w.115 = # & == @t fwy =

viral disease? A g 27
(1) Chicken Pox (1) @&
(2) Polio (2) wiferay
(3) Hepatitis A (3) federsfew A
(4) Tuberculosis (4) D
Q.116 Main cause of soil erosion is w.116 ¥y ®el| & = DRl €
(1) Afforestation (1) TR
(2) Less rain (2) ®H aul
(3) Thinning of Ozone layer (3) 3 Ud BT A Bl
(4) Deforestation (4) @9 e
35
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T A AR

wfe AT dwiia)
Q.117 Match the diseases of column A .17 PN Ptery g 3

with their causing organism In feredl 'rr§ v IR i IR

column B fovem @

Column A Column B PIHA Pl B

a. Measles i. Bacteria a. E_‘Fﬂ L Sty

b. Cholera i, Virus b. IR il famy

c. Malaria ii. Protozoa c. WA il. SeTsan

d. Rustof wheat iv. Fungus d. Tg® W v, By
(1) a-iv, b, c-, d-ii (1) @-iv, b-iii, c-, ddi
(2) a<ii, b, cdii, d-v (2) a-ii, b, ciiii, d-iy
(3) a-i, beii, cAdv, dil (3) @i,  bHii, cdiv, g
(4) a-i, beii, cHil, d-iv (4) a-i,  beii, ceiii, d-iv

Q.118 Algin s taken from w118 vaf A A 9 Faren s

(1) Bacteria (1) iy

(2) Algae (2) e

(3) Fungi (3) WHS

(4) Protozoa (4) WersE

Q.119 The process of removing

unwanted plants from the fields w9 WA [ smEiea el H wer

is called ufthan wEaTh B |
(1) Sowing (1) §3TI'§

(2) Harvesting 2) m

(3) Irrigati-on 3) ﬁﬁﬂg

(4) Weeding ()

Q.120 Which of the following releases
the toxic substance ‘tuberculin’ 9120 A= # @ fpaae gm sihera

(1) Bacteria T &7
@) Vius g :;;l
(3) Algae
(3) ¥
(4) Fungi (4) “ﬁfﬁ\a
m_gaah?rw

=

|
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a.121

Q.122

Q.123

Q. 124

Which nutrient increases in solil
due to crop rotation?

(1) Zinc

(2)  Sulphur
(3)  Nitrogen
(4) Calcium

Wh'lcl.'l of the following method
of irrigation helps in maximum

conservation of water?
(1) Chain pump

(2) Rahat

(3)  Dripsystem

(4)  Sprinkler system

The structure bearing 'genes’ in
the cell are called as

(1)
(2)
3)
(4)
Match column A with column B
Column A Column B

i. Gramseed a.Urea

i. Rice (Paddy) b. Karif crop

jii. Fertilizer c. Silos

iv. Storage d. Rabi crop

which is the most appropriate
combination

(1) i-a, iib,
(2) id, ii-c,
(3) id, ii-b,
(4) i-b, ii-a,

Nucleolus
Nucleus
Chromosomes

Ribosomes

iv-d

iv-a

jii-c,
iii-b,
iii-a, iv-C

iii-c, iv-d

121

¥.122

".123

u.124

B U | A ¥ fa P
) AT 9@ ARA B?

(1) for®

(2) oW

(3) FEgIeH

(4) fcaraw
Prafafaa 4 @ e At g™
R 1 ¥ T B waies
A& B 87

(1) =T

(2) e

(3) fyuwas

4) foesEwad

FRE § = B RS DI IE
ST ®

(1) s

(2) d=D

(3) T™A

(4) AN

#te A e Sfem B 31
HicH A HfH B

i, = a. gRa

i, gae (@) b. WG A
iii. SIR® c. |Igall

iv. WSROI d. W& 9 B
S9gE faded P W R |

(1) ia, b, iic, iv-d
) id, iic, iii-b, iv-a
(3) id, ii-b, iii-a, Iv-C
(4) b, ii-a, iii-c, iv-d

e ————m
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Q. 125 Out of 23 pair chromosomes in
man how many chromosomes

are responsible for sex
determination?
(1) 2
(2) 4
(3) 1
(4) 8
Q.126 Choose the rational number
which does not lie between
rational numbers 3 and %
5

(1) 4L

75

50
(2) 75
@) £

49
@) 75

Q. 127 150is what percent of 307

(1) 5%
(2) 20%
(3) 200%
(4) 500%

Q.128 In the figure PQRS is a
parallelogram, the valueofy-xis

I R
- !

paad sl

w.125 ﬁwﬁzammﬁ#

R Pty

0.126

(3)

(4) 75
U.127 30 &1 150 e wferg 27
(1) 5%
(2) 20%
(3) 200%
(4) 500%

Y. 128 fo= 3 PQRS U FHMR 994
2?7 y-x &1 °9HE B ?

S R S R
x x°

) 2y oS 5

P a P a
(1) 30° (1) 30°
(2) 35° (2) 35°
(3) 40° (3) 40°
@) 70° (4) 70°

38
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Q.129

Q.130

Q.131

Q132

At the rate
seconds, ho\:f o meters per g

Mman
acyclisttraye| inx rilt::tt::? foes

()
$X

m
) ==

60
®

(4) 60mx

—

Ifx+5>2 and x.3 <T

_ » then the valy
of x lie between which of th:

following pair of numbers?

(1) -3and10
(2) -3and4
(3) 2and7
(4) 3and10

A square mirror has a diagonal
measuring 20 inches, what is the

approximate perimeter of the
mirror, (ininches)?

(1) 40

(2) 60

(3) 80

(4) 100

In the given figure if, LCOD=80°

LCBO = 20°, then the measure of
LCOAis

(1) 30°
(2) 40°

(3) 50° AC i

(4) 45° D

9.129 Us wrgfhel o™ aren m e afd

9.130

9.131

0.132

s Wae Bl I A T 73 Fval &, x
forre ¥ a8 T8 @@ wvm?

(1) o

2 S
60m
SX

(3)

(4) 60mx
s

e x+5>2 TN x-3 <T & A x F1
w1 = fofea w s wemai @
Heg E?

(1) -33R10

(2) -33iR4

(3) 23lR7

(4) 33iR10

TS THR gdv @1 fawei 20 39
2, 3931 Fwean aRwm B ($=

#)?

(1) 40
2) 60
(3) 80
(4) 100

gk Ry 1w &= § LcOD=80°
LCBO=20°, T LCOA &1 |TY B IT?

(1) 30°

D

(3) 50° C
(4) 45°
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Q.133 The product of Integers w, x, y | ¥.133 af@ B w, x, y eq u

andzis 770 and 1 <w<x<y<z TP TT08 T 1 <y ey
than the value of w+zis @ w+z B 914 Frm? y<
(1 13 (1) 13
(2) 16 (2) 16
(3) 18 (3) 18
(4) 21 (4) 21
Q.134 The cube rootof 2137 is 2
Ky 9134 3761 P TIYA gy
] 23
m & U
@ 3 @
@ T3 ®
2 -2
@ It @
Q.135 If the altitude of an equilateral 7.135 7} wHag Prw @ Wiee &
triangle Is3 cm then its area is 7ag 3 90 & & zw B =
TG FM?
(1) 2{3em’ (1) 2{3 ¥
3 o 3
3 z°m o T
(4) gcm’ [4) {;:@Pﬁ‘

Q.136 The positive integer n Is divided | g 136 g9 -~
by 25, if [, Is greater than 25, I n 3t 25§ wr R @

n
which of the following could be #13fR{0>25 & 75 %1 A1 AM?
the value of 25 ?
(1) 22 (1) 22
(2) 23 (2) 23
(3) 24 (3) 24
(4) 26 (4) 26

e
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a.1371 n Is a positive Integer then 7. 137 2R U@ n g QI & @

nin+1)(n+2)s n(n+1) (n+2) BFT7

(1) Even only when n is even (1) W dddl T4 T4 n 6 grm

(2)  Even only when n is odd (2) @¥ @ad wid n faww e

(3) Odd whenevernisodd . (3) faw® W@ n faqm &rm

(4) Divisible by 4 whenever n is 4) 49 fafda 5@ n 7@ F9
even, @ 2

Q.138 Mary's income is 60% more than | y 138 %% @ ama % # I@ | 60%

Tim's income and Tim's income is e CC o f2a & ama i @
40% less than John's income A ig.::?q 2 @ <ifa 2 3 A
what percent of John's income is e e widwra &7
Mary's income? P I B -

(1) 124% (1) 124%

2 120% (2) 120%

3 9% (3) 96%

W 80% (4) 80%

Q.139 In the fig shown, the value of v + x 9.139 fv U R Hy+x+ty+z+w &

+ty+z+wis HHE Bm?
(1) 45° (1) 45°
@) 90° - (2) 90°
(3) 180° (3) 180°
(4) 360° (4) 360°
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Q.140 ThaVaIue of
143 ( a" ]91 ( )?7
on simplificationis
(1) a

(2)

3)
@) -1

Q.141 Which one of the following
statements is not true?

A
da
1

(1)  All rhombuses are kites.

(2) Al squares are rectangles.

(3) Al trapeziums are rectangles.

(4) Diagonals of rectangle are
equal.

Q.142 (2x + 3y)’ - (2x - 3y)’
is equal to
(1) 6xy
(2) 12xy
(3) 18xy
(4) 24xy

Q.143 On factoring, X’ + x - 272, we get

(1) (x-16)(x-17)
(2) (x+16)(x-17)
(3) (x-16)(x+17)
4) (x-8) (x+34)

=TT NSy
o

(4) -1

u.141 Fr=fofea 4
T8 &7 W T

(1) wma@ﬁtﬂqﬁﬂﬁﬁ‘é]
(2) ¥ 3 smE A g

(3) ¥ WA T e R g
4) Id F Al war B 8

W.142  (2x + 3y) - (2x - 3y)?
H B
(1) 6xy
(2) 12xy
(3) 18xy
(4) 24xy
WA43I X+ x - 272, @ PoES FA W,
T I B g
(1) (x-16)(x-17)
(2) (x+16)(x-17)
(3) (x-16) (x +17)
(4) (x-8) (x+34)
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a.144 The age of Ravi's father is two

Q.145

Q.146

Q.147

%

third of the age of Ravi's
grandmonther and two times the
age of Ravi. The sum of the ages
of all the three is 132 years. What
is the age of Ravi (inyears)?

(1) 21

(2) 22
(3) 23
(4) 19

A man deposited a sum of Z 5000
in a bank and earned an interest
of X 600 in 2 years How much
would a deposit of ¥ 8000 earn
an interest in the same period
(Rate of interest being the same)

(1) %960
(2) 2900
3) T1200
4) T 1600

Ahmad Shah Abdali invaded
India during

(1) 1526-1530

(2) 1530-1540

(3) 1660-1696

(4) 1748-1761

Treaty of Amritsar was signed
between

(1)  Sikh and British East India
Company

(2) Banda Bahadur and British
East India Company

(3) Raja Ranijit Singh and British
East India Company

(4)  All of above

3

u. 144 ¥R @ frm o A amg @ A
# arg o1 2 ferd & sk W
g P A A & A B A
ar 132 ad &1 I A g Ful
T &7
(1) 21
(2) 22
(3) 23
(4) 19

Y.145 T &fdd A 5000 TIT & H oI
FN0 AR 2 ad ¥ 600 vUC =T
afefa fran| oot & sl & S
A &Y ¥ 8000 YT OTHT YA W
e =ma arfofa @

(1) 960
(2) T 900
(3) T1200
(4) % 1600

W.146 IEUS VITE =TSNl A WRd W
= d | w9 smEw fm?

(1) 1526-1530
(2) 1530-1540
(3) 1660-1696 L
(4) 1748-1761 |

N.147 IrgaeR o 6 5 & wea gd?

#9895

(1) R ik fafew &= sfewm
!

(2) =1 9EEgR R ey e
sfea e

(3) wom i g aiv fafew
v i wee

(4) IURTH |9
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Political matlers

(1)
(2)
(3)
(4)
Q.149 The autoblography
Tuzuk-i-Baburl I8 written
(1)
(2)
(3)
(4)
Q.150 Purana Qila (0
was bulltby
(1) Babur
(2) Humayun
(3) Sher Shah Suri
(4) Shah Jehan

Q.151 Maharana Pratap belongs to
which clan:

(1) Marwar
(2) Chauhans
(3) Suryavansi
(4) Sisodiya

Q.152 Who was the Queen of
Gondwana against whom Akbar
sentan army

(1)  Durga Vati
(2) Chand Bibi
(3) Dayavati
(4) Nana Vati

S0cial mallars

Religious matiers
Educational mallers

of Babur

in
Hindi language

Turkish languageé

Urdu language

None of these

id fort) of Delhi

U.14%

9.149

9.150

9.151

1.152

o, Yoy oy
%'ﬂﬂﬁ#mﬂmfh#ﬂ

(1) Mo55y g,

(2) #9852y ws

q’fﬂ :_’rf"ﬁ_ﬁ By

(4) vz

am? A 7% :
ﬁﬂfﬁ'ﬂmﬁ?ﬂsﬂ‘ﬁq
(1) 27 =mm

(2) T2 =%

(3) F% 59

21" _:: El"; "I_?:-j

4) 2

feectt 3§ fooa g fen B=4 9
f&a arcmE A F5EN?

(1) a7

(2) F%

(3) FREEED

(4) TMEwEl

qermon wam e § A R
7o (@) ¥ Heg x@a &7
(1) ARars

(2) drEH

(3) ¥ggad

4) faaifem
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Q.154

Q.155

Q.156

Q.157

Where Swami Vivekanand

established 'The Rama Krishan
Mission'in 18877

(1)
(2)
(3)
(4)
Boston Tea Party was actually a
(1) Atea party

(2) Abirthday party

(3) Amarriage party

(4) Arevolt

In 1905 Bengal was partioned by

Belur
Baranagar
Calcutta

Kanya Kumari

Lord Minto

Lord Curzon
Lord Irwin

Lord Mountbatten

(1)
(2)
(3)
(4)

Which rogion's wool attracted
the traders in earlier days?

(1) Ladakh
(2) Ludhiana
(3) Bengal
(4) Tibet

In which country the game
cricket originated?

(1) America
(2) England
(3) RuSsia
(4) China

§.153 1887 § ‘wpw faww w@wd

H.154

H.155

W.156

0.157

e ot 3 T8 wifde a?
(1) o

(2) g$1° X

(3) Teral

(4) FTHAR

are & gl area A 7 A?

(1) =g ur

(2) wfead el

(3) T A AT

(4) v fagre (@)

1905 3§ & @ e A § |
fram fvan?

(1) o A=l

(2) S HuiA

(3) oS 3=

(4) TS AEhE deA

wHH wWa ¥ Rl @ 5 &=
P T Arwfia Hxat A7

(1) @@

(2) e

(3) T

(4) f=d

frde A« =1 9g 3w 2w W
gan?

(1) 3mR®n

(2) Foie

(3) ®91
(4) 9=

[ ———— e —————————————— e ————————————
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Q.158

Q.159

Q.160

Q.161

Q.162

%

S S .'._._;ww._

said,
Who among the m
Science™?
(1) Pioto
(2) Aristotie
(3) Hobbes
(4) Kautiya

Who was the first vice President
ofindia?

(1)  Dr.S.Radhakrishnan
(2) Dr. Zakir Hussain

(3) C.RajGopalacharya
(4)  Dr.B.R. Ambedkar

Which day is celebrated as UN
Day?

(1) 20th October
(2) 24th October
(3) 10th December
(4) IstNovember

Who is the author of ‘Das
Capital'?

(1) M.K Gandhi

(2) Pt Jawaharial Nehru

(3) KarlMarx

(4) JohnRuskin

Which Statement of the
following is not correct?

(1) Indiais Republic

(2) Indiais secular State

(3) India is having Presidential
form of Government

(4) India has written constitution

7.158

w159

u.160

u.161

H.162

B
W ;

ﬁqi%wmmt&

g ?
(1) <

20 1

(3) =

(4) Fie™

(1)
(@)
(3)
(4)
T O R R Ry vy
i &7

(1) 205K

(2) 243

(3) 10EF==

@) 1R

TH IMea e g
fali? b

(1) &=

(2) TE IR IS TEE

(3) == 7=

(4) FEIESS
FEiddmasma@ @

SIS

iy =
SIS oY

(1) sReE o=t

(2) TRT T EERRAE T g
(3) sREE3 T TWoOR &l
(4) =T = Sfee= SfaE il
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Q.163

Q.164

Q.165

Q.166

The Word ‘Union of State' Is
taken from Which Country?

(2) Britain

(2) Ireland

(3) Canada

(4) Japan

By Which Amendment of the
constitution women are given
33% Reservation in Local bodies
atrural level?

(1) 73th
(2) 80th
(3) 49th

(4) 48th

Where is H.Q. of International
Court of Justice?

(1) Genevo

(2) Washington

(3) Hague

(4) Tokyo

Which of the following
statement is correct?

(1) G. K. Gokhale was political
Guru of M.K. Gandhi

Tilak was liberal leader

(2)
(3)

Jinha was founder of muslim
league

Non-cooperation movement
was started in 1930 by M.K.
Gandhi

(4)

9163 ‘Tdl @1 wyE’ W e 30 9

7.164

H.165

H.166

frmmme?

(1) faca

(2) IMRAT

(3) ®rSl

(4) I

) AT TR ) i wenai 4
33% IR&v = man?

73qi
80
49
48di

(1)
(2)
(3)
(4)

I AT B e red
oEl 87

(1) forma

(2) aRrTed

(3) &

(4) <

= A B9 w1 Tua e R?

(1) 7 1 IRES Tl B

oIS 6 9 |

fereT SERaATS AT o |

a1 #Hafam @ @

RIS 9 |

@4) T A ewEAT am=reE
1930 % W fama |

(2)
(3)

e
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Q.167

Q.168

Q.169

Q.170

By which Amendment

Fundamental Right of Property
was abolished?

(1) 42nd Amendment
(2) 44th Amendment
(3) 52 Amendment
(4) 61 Amendment

Which Party is ruling in Orissa?

(1) Congress Party
(2) Biju Janata Dal

(3) Rastriya Janata Dal
(4) BJP

Who is speaker of Haryana
Assembly?

(1) Dr.Arvind Sharma
(2) Kuldeep Sharma
(3) Paramijeet Singh
(4) Zakir Hussian

Match the Following:

A. Feature made (i) Morine
by sea waves

B. Feature made (ii)Mushroom
by glacier Rock

C. Feature made (iii) Levees
by winds

D. Feature made (iv) Arch
by river

A B C D
(1) i v i
@ i i v

(3) i i i v
@) v i i i

0.167

9.168

9.169

".170

e Wl <y
AR SR ey
(1) 424 Heq T
(2) 44 91 Haey

(3) 52 a1 Haws

(4) 6131 HHys

G@mﬁ%ﬂ%
wmEA 87 ¥ 3

(1) B e
(2) 9 S g
(3) ST S T
4) 9@

|. f@wam AffE (i) sae ¥
i

. arg e A (i) aea

u. 7 g1 fAfa (iv) s (vem)

$ @ T q
(1) @i v i
) i i v !
(3) i i il v
(4) iv i ii [}

s============ﬁﬁ"

48

Scanned by CamScanner



4

PRIA

Q172

Q173

Q.174

The famous town Leh of Ladakh
Is situated on which river?

(1) Chenab

(2) Jhelam

(3) Ravi

(4) Indus

Which type of soll Is formed by
leaching process?

(1) Laterite soll

(2) Sandy soll

(3) Mountain soil

(4) Red soil

Which one of the following

statements Is not correct about
'Prairies’'.

(1) Itis actually 'Sea of grass'.

(2) Alocal wind 'chinook' blows
here.

(3) Itis known as 'Granaries of
world'". -

(4) Itis situated in 'North Africa’.

Read the following statements.

A. Man modifies his
environment.

B. Plants, animals and human
belngs are interdependent.

(1) Both'A' and 'B' are true.

(2) Both'A' and 'B' are false.
'A' is false and 'B' is true.

(3)

'A'is true and 'B' is false.

(4)

017

w172

".173

0174

w1 TqE ey Ay

T o e # 7

(1) A4

(2) #e

(3) @

4) fog

Parem ofrm @ A @ @

formfor wren 7

(1) dexrge g

(2) ag Mgl

(3) yddry g

(4) @ g

frefafr moel d W @ oA

Yfia’ & AR ¥ v T R

(1) e arerd ¥ '©rR 1 EE 8 |

2) vy g e @@ aEd
B

(3) T WER P GRAMR PEQ
2

(4) Te I e W Rer &

Fr=fafra =l = afgul

3. AYE JTN YUENO B WY
¥l a1 B |

g, 9, vy R wgw oW A

7% A W AR ¥

(M 2=y ek @ JE
oy & 7 E |

2 @ ar &k W FE
quiwy ¥ e § |

3) ‘& o B R T W
B

@) ¥ " B AR T ™
B
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Lil!

Statements Is not correct. 7€ &7 . Wy
(1) Stratosphere contains a layer (1) FHH "oeq ¥ § I

of Ozone gas. PN B | T
(2) lonosphere is a part of (2) STTTSH  Fomugy P

thermosphere. 2| #
(3) All weather phenomena (3) W AT e e

occurs in Troposphere. gEvSE ¥ & I

2

(4) Mesosphere is the fourth layer (4) TEHYSH, qgHvER o hefy

of the atmosphere. WA gl

Q.176 Match the following: 7.176 ﬁﬁ%ﬁaﬂ*ﬂ‘iﬂﬁﬁrﬁaﬁﬁq;

A. Tsunamiisa (i) Tide 3. ‘gqr:h i

Japanese m?e ? S e

word that

mean . foramt anf & ...
B. Periodic rise (ji) Harbour a Al O W (i) ERaw e

and fall of Waves fraa s &

ocean 3 AN
Cc !Tﬂﬁi

. Streams of (iii) warm 9. i

water moving current o) @m (1) 4 s

constantly on

the surface T R G B

of water in GRICIRECES |

definite path
D. Generallyit (iv) Ocean S VMRV $HH (iv) 91 9N

originate near  current e Y B

the equator TordtE Fyeior

B §
(1) Ad, Beii, Ciili, Dev Uy 36, 30, W, S
(2) A-i, B-i, C-iv, D+iii (2) 3-ii, i, G-iv, il

(3) A-iv, B-iii, C-ii, D-i

(4) A-iii, B-ii, C-iv, D-i (4) i, F-i, G-iv, T

B —

50

(3) -iv, d-iii, G-ii, G-
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.77 In Which of the following

situations does the neap tide
occur?

(1) When sun, moon and earth
are sequentially in one line.

(2) When sun, earth and moon
are sequentially in one line.

(3) When the moon is in Its first
and last quarter,

(4) When the earth, sun and moon
are sequentially in one line.

Q.178

------

Five neighbouring countrles and
Indian states have been marked
onthemapas 1, 2, 3, 4, 5 and
name as A-Punjab, B-Himachal
Pradesh, C-Tibet, D-Pakistan
and E-China.

(1) 1-B,2-D,3-E,4-A,5-C
(2) 1-A,2-B,3-C,4-D,5-E
(3) 1-C, 2-A, 3-D, 4-B, 5-E
(4) 1-E, 2-D,3-C,4-A, 5B

RA77 Pt § @ e W Rufd 4

() o, ww vl ge

@ ww g, pd gl asH

(3) W wwHl W g
o e @ wgeta A
g B

(4) o yeft, wd den

i =
[}
.-'u.,, I-F\--" 1
gy Mg
4.":'1:. 2 ‘:‘3
;-'1 Yy 4,
! Y iy

drg geRi 2w iR W T
a0 W ffea fg o € qun 5=
1,2, 3, 4,5 Tufar T ¥ | B
am € - 3-99m, 3-fRwree wew,
w-frema, 3-afdar sk a4

(1) 1-8, 2%, 3-9, 4-3, 5-9
(2) 1-3, 2-9, 3-9, 4-8, 5-9
(3) 1-W,2-3, 3-2, 4-4, 5-9
(4) 1-9, 2-7, 39, 4-31, 59
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Q179 Asteroids are found betweenthe | %.179 TEYTSH (IfRam) fry
Combitof: o T W §? ™ 3
(1) Saturn and Jupiter (1) 9 3R gewfy
(2)  Mars and Jupiter (2) TS AR FEwfy
(3) Earth and Mars (3) gedl 3R e
(4) Mars and Venus (4) TS 3R biE
Q.180 The continent of North America | W.180 TR 3R ey
is linked to South America by: 3RS A o1 gan &: St
(1)  Strait (1) STaISHaHe
(2) Canal (2) e
(3} Mountain (3) -q—d'ﬂ
(4) Isthums (4) ATSHET
Rough Work Y5 B o
%—_— :
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